TAIWANESE JOURNAL OF MATHEMATICS Vol. 16, No. 5, pp. 1803-1814, October 2012 This paper is available online at http://journal.taiwanmathsoc.org.tw

N-JORDAN *-HOMOMORPHISMS IN C*-ALGEBRAS

Choonkil Park, Shahram Ghaffary Ghaleh and Khatereh Ghasemi

Abstract. In this paper, we investigate n-Jordan *-homomorphisms in C^* -algebras associated with the following functional inequality

$$\left\| f\left(\frac{b-a}{3}\right) + f\left(\frac{a-3c}{3}\right) + f\left(\frac{3a+3c-b}{3}\right) \right\| \le \|f(a)\|.$$

We moreover prove the superstability and the Hyers-Ulam stability of n-Jordan *-homomorphisms in C^* -algebras associated with the following functional equation

$$f\left(\frac{b-a}{3}\right) + f\left(\frac{a-3c}{3}\right) + f\left(\frac{3a+3c-b}{3}\right) = f(a).$$

1. INTRODUCTION AND PRELIMINARIES

Let A, B be complex algebras. A \mathbb{C} -linear mapping $h : A \to B$ is called an *n*-Jordan homomorphism if $h(a^n) = h(a)^n$ for all $a \in A$. The concept of *n*-Jordan homomorphisms was studied for complex algebras by Eshaghi Gordji et al. [3] (see also [4, 9]).

In this paper, assume that n is an integer greater than 1.

Definition 1.1. ([10]). Let A, B be complex algebras. A \mathbb{C} -linear mapping $h : A \to B$ is called an *n*-Jordan homomorphism if

$$h(a^n) = h(a)^n$$

for all $a \in A$.

Definition 1.2. Let A, B be C*-algebras. An n-Jordan homomorphism $h : A \rightarrow B$ is called an n-Jordan *-homomorphism if

$$h(a^*) = h(a)^*$$

for all $a \in A$.

Communicated by Ngai-Ching Wong.

Received November 29, 2011, accepted January 1, 2012.

²⁰¹⁰ Mathematics Subject Classification: Primary 17C65, 39B52, 39B72, 46L05.

Key words and phrases: n-Jordan *-Omomorphism, C*-Algebra, Hyers-Ulam stability.

The stability of functional equations was first introduced by Ulam [22] in 1940. More precisely, he proposed the following problem: Given a group G_1 , a metric group (G_2, d) and $\epsilon > 0$, does there exist a $\delta > 0$ such that if a mapping $f : G_1 \to G_2$ satisfies the inequality $d(f(xy), f(x)f(y)) < \delta$ for all $x, y \in G_1$, then there exists a homomorphism $T : G_1 \to G_2$ such that $d(f(x), T(x)) < \epsilon$ for all $x \in G_1$? As mentioned above, when this problem has a solution, we say that the homomorphisms from G_1 to G_2 are stable. In 1941, Hyers [11] gave a partial solution of Ulam s problem for the case of approximate additive mappings under the assumption that G_1 and G_2 are Banach spaces. In 1950, Aoki [1] generalized the Hyers' theorem for approximately additive mappings. In 1978, Th.M. Rassias [21] generalized the theorem of Hyers by considering the stability problem with unbounded Cauchy differences.

During the last decades several stability problems of functional equations have been investigated by many mathematicians (see [2, 5, 6, 7, 12, 13, 14, 16, 15, 18, 19, 20]).

Miura et al. [17] proved the Hyers-Ulam stability of Jordan homomorphisms.

In this paper, we investigate the Hyers-Ulam stability of n-Jordan *-homomorphisms in C^* -algebras associated with the following functional inequality

$$\left\| f\left(\frac{b-a}{3}\right) + f\left(\frac{a-3c}{3}\right) + f\left(\frac{3a+3c-b}{3}\right) \right\| \le \|f(a)\|.$$

We moreover prove the the Hyers-Ulam stability of n-Jordan *-homomorphisms in C^* -algebras associated with the following functional equation

$$f\left(\frac{b-a}{3}\right) + f\left(\frac{a-3c}{3}\right) + f\left(\frac{3a+3c-b}{3}\right) = f(a).$$

Lemma 2.1. ([8]). Let A, B be C^* -algebras, and let $f : A \to B$ be a mapping such that

$$\left\| f\left(\frac{b-a}{3}\right) + f\left(\frac{a-3c}{3}\right) + f\left(\frac{3a+3c-b}{3}\right) \right\|_{B} \le \|f(a)\|_{B}$$

for all $a, b, c \in A$. Then f is additive.

We prove the superstability of n-Jordan *-homomorphisms.

Theorem 2.2. Let A, B be C^{*}-algebras, and let p < 1 and θ be nonnegative real numbers. Let $f : A \to B$ be a mapping such that

(2.1)
$$\left\| f\left(\frac{b-a}{3}\mu\right) + f\left(\frac{a-3c}{3}\mu\right) + \mu f\left(\frac{3a+3c-b}{3}\right) \right\|_{B} \le \|f(a)\|_{B},$$

(2.2)
$$||f(a^n) - f(a)^n||_B \le \theta ||a||_A^{np},$$

(2.3)
$$||f(a^*) - f(a)^*||_B \le \theta ||a^*||_A^p$$

for all $\mu \in \mathbb{T}^1 := \{\lambda \in \mathbb{C} : |\lambda| = 1\}$ and all $a, b, c \in A$. Then the mapping $f : A \to B$ is an *n*-Jordan *-homomorphism.

Proof. Let $\mu = 1$ in (2.1). By Lemma 2.1, the mapping $f : A \to B$ is additive. Letting a = b = 0 in (2.1), we get

$$||f(-\mu c) + \mu f(c)||_B \le ||f(0)||_B = 0$$

for all $c \in A$ and all $\mu \in \mathbb{T}^1$. So

$$-f(\mu c)+\mu f(c)=f(-\mu c)+\mu f(c)=0$$

for all $c \in A$ and all $\mu \in \mathbb{T}^1$. Hence $f(\mu c) = \mu f(c)$ for all $c \in A$ and all $\mu \in \mathbb{T}^1$. By [18, Theorem 2.1], the mapping $f : A \to B$ is \mathbb{C} -linear.

It follows from (2.2) that

$$\begin{split} \|f(a^{n}) - f(a)^{n}\|_{B} &= \left\| \frac{1}{m^{n}} f(m^{n} a^{n}) - \left(\frac{1}{m} f(ma)\right)^{n} \right\|_{B} \\ &= \frac{1}{m^{n}} \|f(m^{n} a^{n}) - f(ma)^{n}\|_{B} \\ &\leq \frac{\theta}{m^{n}} m^{np} \|a\|_{A}^{np} \end{split}$$

for all $a \in A$. Since p < 1, by letting m tend to ∞ in the last inequality, we obtain $f(a^n) = f(a)^n$ for all $a \in A$.

It follows from (2.3) that

$$\|f(a^*) - f(a)^*\|_B = \left\|\frac{1}{m}f(ma^*) - \frac{1}{m}f(ma)^*\right\|_B$$
$$= \frac{1}{m}\|f(ma^*) - f(ma)^*\|_B$$
$$\leq \frac{\theta}{m}m^p\|a^*\|_A^p$$

for all $a \in A$. Since p < 1, by letting m tend to ∞ in the last inequality, we obtain $f(a^*) = f(a)^*$ for all $a \in A$. Hence the mapping $f : A \to B$ is an n-Jordan *-homomorphism.

Theorem 2.3. Let A, B be C*-algebras, and let p > 1 and θ be nonnegative real numbers. Let $f : A \to B$ be a mapping satisfying (2.1), (2.2) and (2.3). Then the mapping $f : A \to B$ is an n-Jordan *-homomorphism.

Proof. The proof is similar to the proof of Theorem 2.2.

Now we prove the Hyers-Ulam stability of n-Jordan homomorphisms in C^* -algebras.

Theorem 2.4. Let A, B be C^* -algebras. Let $f : A \to B$ be an odd mapping for which there exists a function $\varphi : A \times A \times A \to \mathbb{R}^+$ such that

(2.4)
$$\sum_{i=0}^{\infty} 3^{ni} \varphi\left(\frac{a}{3^i}, \frac{b}{3^i}, \frac{c}{3^i}\right) < \infty,$$

(2.5)
$$||f(c^*) - f(c)^*||_B \le \varphi(c, c, c),$$

(2.6)
$$\left\| f\left(\frac{b-a}{3}\mu\right) + f\left(\frac{a-3c}{3}\mu\right) + \mu f\left(\frac{3a-b}{3}+c\right) - f(a) + f(c^n) - f(c)^n \right\|_B \le \varphi(a,b,c)$$

for all $a, b, c \in A$ and all $\mu \in \mathbb{T}^1$. Then there exists a unique *n*-Jordan *-homomorphism $h: A \to B$ such that

(2.7)
$$||h(a) - f(a)||_B \le \sum_{i=0}^{\infty} 3^i \varphi\left(\frac{a}{3^i}, \frac{2a}{3^i}, 0\right)$$

for all $a \in A$.

Proof. Letting $\mu = 1$, b = 2a and c = 0 in (2.6), we get

(2.8)
$$\left\|3f\left(\frac{a}{3}\right) - f(a)\right\|_{B} \le \varphi(a, 2a, 0)$$

for all $a \in A$. Using the induction method, we have

(2.9)
$$\left\| 3^m f\left(\frac{a}{3^m}\right) - f(a) \right\|_B \le \sum_{i=0}^{m-1} 3^i \varphi\left(\frac{a}{3^i}, \frac{2a}{3^i}, 0\right)$$

for all $a \in A$. In other to show that

$$h_m(a) = 3^m f(\frac{a}{3^m})$$

form a convergent sequence, we use the Cauchy convergence criterion. Indeed, replacing a by $\frac{a}{3^k}$ and multiplying by 3^k in (2.9), where k is an arbitrary positive integer, we get that

$$\left\|3^{k+m}f\left(\frac{a}{3^{k+m}}\right) - 3^k f\left(\frac{a}{3^k}\right)\right\|_B \le \sum_{i=k}^{k+m-1} 3^i \varphi\left(\frac{a}{3^i}, \frac{2a}{3^i}, 0\right)$$

for all positive integers m. Hence by the Cauchy criterion, the limit

n-Jordan *-Homomorphisms in C^* -Algebras

$$h(a) = \lim_{m \to \infty} h_m(a)$$

exists for each $a \in A$. By taking the limit as $m \to \infty$ in (2.9), we obtain that

$$\|h(a) - f(a)\| \le \sum_{i=0}^{\infty} 3^i \varphi\left(\frac{a}{3^i}, \frac{2a}{3^i}, 0\right)$$

and (2.7) holds for all $a \in A$. Letting $\mu = 1$ and c = 0 in (2.6), we get

(2.10)
$$\left\| f\left(\frac{b-a}{3}\right) + f\left(\frac{a}{3}\right) + f\left(\frac{3a-b}{3}\right) - f(a) \right\|_{B} \le \varphi(a,b,0)$$

for all $a, b, c \in A$. Multiplying both sides (2.10) by 3^m and replacing a, b by $\frac{a}{3^m}, \frac{b}{3^m}$, respectively, we get

$$\left\| 3^m f\left(\frac{b-a}{3^{m+1}}\right) + 3^m f\left(\frac{a}{3^{m+1}}\right) + 3^m f\left(\frac{3a-b}{3^{m+1}}\right) - 3^m f\left(\frac{a}{3^m}\right) \right\|_B \\ \leq 3^m \varphi\left(\frac{a}{3^m}, \frac{b}{3^m}, 0\right)$$

for all $a, b \in A$. Taking the limit as $m \to \infty$, we obtain

(2.11)
$$h\left(\frac{b-a}{3}\right) + h\left(\frac{a}{3}\right) + h\left(\frac{3a-b}{3}\right) - h(a) = 0$$

for all $a, b \in A$. Putting b = 2a in (2.11), we get

$$3h\left(\frac{a}{3}\right) = h(a)$$

for all $a \in A$. Replacing a by 2a in (2.11), we get

(2.12)
$$h(b-2a) + h(6a-b) = 2h(2a)$$

for all $a, b \in A$. Letting b = 2a in (2.12), we get

$$h(4a) = 2h(2a)$$

for all $a \in A$. So

$$h(2a) = 2h(a)$$

for all $a \in A$. Letting 3a - b = s and b - a = t in (2.11), we get

$$h\left(\frac{t}{3}\right) + h\left(\frac{s+t}{6}\right) + h\left(\frac{t}{3}\right) = h\left(\frac{s+t}{2}\right)$$

for all $s, t \in A$. Hence

$$h(s) + h(t) = h(s+t)$$

for all $s, t \in A$. So h is additive.

Letting a = b = 0 in (2.6) and using the above method, we have

$$h(\mu b) = \mu h(b)$$

for all $a \in A$ and all $\mu \in \mathbb{T}^1$. Hence by [18, Theorem 2.1], the mapping $f : A \to B$ is \mathbb{C} -linear.

Now, let $h_1: A \to B$ be another \mathbb{C} -linear mapping satisfying (2.7). Then we have

$$\|h(a) - h_1(a)\|_B = 3^m \left\|h\left(\frac{a}{3^m}\right) - h_1\left(\frac{a}{3^m}\right)\right\|_B$$

$$\leq 3^m \left[\left\|h\left(\frac{a}{3^m}\right) - f\left(\frac{a}{3^m}\right)\right\|_B + \left\|h_1\left(\frac{a}{3^m}\right) - f\left(\frac{a}{3^m}\right)\right\|_B\right]$$

$$\leq 2\sum_{i=m}^\infty 3^i \varphi\left(\frac{a}{3^i}, \frac{2a}{3^i}, 0\right) = 0$$

for all $a \in A$. So h is unique.

Letting $\mu = 1$ and a = b = 0 in (2.6), we get

$$||f(-c) + f(c) + f(c^n) - f(c)^n||_B \le \varphi(0, 0, c)$$

for all $c \in A$. So

$$\begin{split} \|h(c^n) - h(c)^n\|_B &= \|h(-c) + h(c) + h(c^n) - h(c)^n\|_B \\ &= \lim_{m \to \infty} 3^{nm} \left\| f\left(\frac{-c}{3^{nm}}\right) + f\left(\frac{c}{3^{nm}}\right) + f\left(\frac{c^n}{3^{nm}}\right) - f\left(\frac{c}{3^m}\right)^n \right\|_B \\ &\leq \lim_{m \to \infty} 3^{nm} \varphi\left(0, 0, \frac{c}{3^m}\right) = 0 \end{split}$$

for all $c \in A$. Hence

$$h(c^n) = h(c)^n$$

for all $c \in A$.

On the other hand, we have

$$\|h(c^*) - h(c)^*\|_B = \lim_{m \to \infty} 3^m \left\| f\left(\frac{c^*}{3^m}\right) - f\left(\frac{c}{3^m}\right)^* \right\|_B$$
$$\leq \lim_{m \to \infty} 3^m \varphi\left(\frac{c}{3^m}, \frac{c}{3^m}, \frac{c}{3^m}\right) = 0$$

for all $c \in A$. Hence

$$h(c^*) = h(c)^*$$

for all $c \in A$. Hence $h : A \to B$ is a unique *n*-Jordan *-homomorphism.

Corollary 2.5. Let A, B be C^{*}-algebras, and let $f : A \to B$ be a mapping with f(0) = 0 for which there exist constants $\theta \ge 0$ and $p_1, p_2, p_3 > n$ such that

(2.13)
$$\left\| f\left(\frac{b-a}{3}\mu\right) + f\left(\frac{a-3c}{3}\mu\right) + \mu f\left(\frac{3a-b}{3}+c\right) - f(a) + f(c^{n}) - f(c)^{n} \right\|_{B} \\ \leq \theta \left(\|a\|^{p_{1}} + \|b\|^{p_{2}} + \|c\|^{p_{3}} \right),$$

(2.14)
$$||f(c^*) - f(c)^*||_B \le \theta(||c||^{p_1} + ||c||^{p_2} + ||c||^{p_3})$$

for all $a, b, c \in A$ and all $\mu \in \mathbb{T}^1$. Then there exists a unique n-Jordan *-homomorphism $h: A \to B$ such that

$$||f(a) - h(a)||_B \le \frac{\theta ||a||^{p_1}}{1 - 3^{(1-p_1)}} + \frac{2^{p_2} \theta ||a||^{p_2}}{1 - 3^{(1-p_2)}}$$

for all $a \in A$.

Proof. Letting $\varphi(a, b, c) = \theta(||a||^{p_1} + ||b||^{p_2} + ||c||^{p_3})$ in Theorem 2.4, we have

$$||f(a) - h(a)||_B \le \frac{\theta ||a||^{p_1}}{1 - 3^{(1-p_1)}} + \frac{2^{p_2} \theta ||a||^{p_2}}{1 - 3^{(1-p_2)}}$$

for all $a \in A$, as desired.

Corollary 2.6. Let $\psi : \mathbb{R}^+ \cup \{0\} \to \mathbb{R}^+ \cup \{0\}$ be a function with $\psi(0) = 0$ such that

$$\begin{split} &\lim_{t\to 0} \frac{\psi(t)}{t} = 0, \\ \psi(st) &\leq \psi(s)\psi(t), \\ & 3^n \psi\left(\frac{1}{3}\right) < 1 \end{split}$$

for all $s, t \in \mathbb{R}^+$. Suppose that $f : A \to B$ is a mapping satisfying f(0) = 0, (2.5) and

(2.15)
$$\left\| f\left(\frac{b-a}{3}\mu\right) + f\left(\frac{a-3c}{3}\mu\right) + \mu f\left(\frac{3a-b}{3}+c\right) - f(a) + f(c^{n}) - f(c)^{n} \right\|_{B} \\ \leq \theta[\psi(\|a\|) + \psi(\|b\|) + \psi(\|c\|)]$$

for all $a, b, c \in A$, where $\theta > 0$ is a constant. Then there exists a unique n-Jordan *-homomorphism $h : A \to B$ such that

$$\|h(a) - f(a)\|_B \le \frac{\theta(1 + \psi(2))\psi(\|a\|)}{1 - 3\psi(\frac{1}{3})}$$

for all $a \in A$.

Proof. Letting $\varphi(a, b, c) = \theta[\psi(||a||) + \psi(||b||) + \psi(||c||)]$ in Theorem 2.4, we have

$$\|h(a) - f(a)\|_B \le \frac{\theta(1 + \psi(2))\psi(\|a\|)}{1 - 3\psi(\frac{1}{3})}$$

for all $a \in A$, as desired.

Theorem 2.7. Let A, B be C^{*}-algebras, and let $f : A \to B$ be a mapping with f(0) = 0 for which there exists a function $\varphi : A \times A \times A \to \mathbb{R}^+$ satisfying (2.5), (2.6) and

$$\sum_{i=1}^\infty \frac{1}{3^i} \varphi(3^i a, 3^i b, 3^i c) < \infty$$

for all $a, b, c \in A$. Then there exists a unique *n*-Jordan *-homomorphism $h : A \to B$ such that

(2.16)
$$||h(a) - f(a)||_B \le \sum_{i=1}^{\infty} \frac{1}{3^i} \varphi(3^i a, 3^i (2a), 0)$$

for all $a \in A$.

Proof. Replacing a by 3a in (2.8), we get

$$\left\|\frac{1}{3}f(3a) - f(a)\right\|_{B} \le \frac{1}{3}\varphi(3a, 2(3a), 0)$$

for all $a \in A$. One can apply the induction method to prove that

(2.17)
$$\left\|\frac{1}{3^m}f(3^m a) - f(a)\right\|_B \le \sum_{i=1}^m \frac{1}{3^i}\varphi(3^i a, 2(3^i a), 0)$$

for all $a \in A$. In order to show that

$$h_m(a) = \frac{1}{3^m} f(3^m a)$$

form a convergent sequence, we use the Cauchy convergence criterion. Indeed, replacing a by $3^k a$ and multiplying by 3^{-k} in (2.17), where k is an arbitrary positive integer, we get that

$$\left\|\frac{1}{3^{k+m}}f(3^{k+m}a) - \frac{1}{3^k}f(3^ka)\right\|_B \le \sum_{i=k+1}^{k+m} \frac{1}{3^i}\varphi(3^ia, 2(3^ia), 0)$$

for all positive integers m. Hence by the Cauchy criterion,

1810

$$h(a) = \lim_{m \to \infty} h_m(a)$$

exists for all $a \in A$. By taking the limit as $m \to \infty$ in (2.17), we obtain that

$$||h(a) - f(a)||_B \le \sum_{i=1}^{\infty} \frac{1}{3^i} \varphi(3^i a, 2(3^i a), 0)$$

and (2.16) holds for all $a \in A$.

The rest of the proof is similar to the proof of Theorem 2.4.

Corollary 2.8. Let A, B be C^* -algebras, and let $f : A \to B$ be a mapping with f(0) = 0 for which there exist constants $\theta \ge 0$ and $p_1, p_2, p_3 < 1$ satisfying (2.13) and (2.14). Then there exists a unique n-Jordan *-homomorphism $h: A \rightarrow B$ such that

$$||f(a) - h(a)||_B \le \frac{\theta ||a||^{p_1}}{3^{(1-p_1)} - 1} + \frac{2^{p_2} \theta ||a||^{p_2}}{3^{(1-p_2)} - 1}$$

for all $a \in A$.

Proof. Letting $\varphi(a, b, c) = \theta(||a||^{p_1} + ||b||^{p_2} + ||c||^{p_3})$ in Theorem 2.7, we have

$$||f(a) - h(a)||_B \le \frac{\theta ||a||^{p_1}}{3^{(1-p_1)} - 1} + \frac{2^{p_2} \theta ||a||^{p_2}}{3^{(1-p_2)} - 1}$$

for all $a \in A$.

Corollary 2.9. Let $\psi : \mathbb{R}^+ \cup \{0\} \to \mathbb{R}^+ \cup \{0\}$ be a function with $\psi(0) = 0$ such that

$$\lim_{t \to 0} \frac{\psi(t)}{t} = 0,$$

$$\psi(st) \le \psi(s)\psi(t),$$

$$\frac{1}{3}\psi(3) < 1$$

for all $s, t \in \mathbb{R}^+$. Suppose that $f : A \to B$ is a mapping satisfying f(0) = 0 (2.5) and (2.15). Then there exists a unique n-Jordan *-homomorphism $h: A \rightarrow B$ such that

$$\|h(a) - f(a)\|_B \le \frac{\theta(1 + \psi(2))\psi(\|a\|)}{1 - \frac{1}{3}\psi(3)}$$

for all $a \in A$.

Letting $\varphi(a, b, c) = \theta[\psi(||a||) + \psi(||b||) + \psi(||c||)]$ in Theorem 2.7, we Proof. have

$$\|h(a) - f(a)\|_B \le \frac{\theta(1 + \psi(2))\psi(\|a\|)}{1 - \frac{1}{3}\psi(3)}$$

for all $a \in A$.

1	8	1	1
---	---	---	---

Corollary 2.10. Let A, B be C*-algebras, and let $f : A \to B$ be a mapping with f(0) = 0 for which there exists a constant $\theta \ge 0$ such that

$$\left\| f\left(\frac{b-a}{3}\mu\right) + f\left(\frac{a-3c}{3}\mu\right) + \mu f\left(\frac{3a-b}{3}+c\right) - f(a) + f(c^n) - f(c)^n \right\|_B \le \theta,$$

$$||f(a^*) - f(a)^*||_B \le \theta$$

for all $a, b, c \in A$ and all $\mu \in \mathbb{T}^1$. Then there exists a unique *n*-Jordan *-homomorphism $h: A \to B$ such that

$$\|f(a) - h(a)\|_B \le \theta$$

for all $a \in A$.

Proof. Letting $p_1 = p_2 = p_3 = 0$ in Corollary 2.8, we have

$$||f(a) - h(a)||_B \le \theta$$

for all $a \in A$.

ACKNOWLEDGMENT

The first author was supported by Basic Science Research Program through the National Research Foundation of Korea funded by the Ministry of Education, Science and Technology (NRF-2009-0070788).

References

- 1. T. Aoki, On the stability of the linear transformation in Banach spaces, J. Math. Soc. Japan, 2 (1950), 64-66.
- 2. S. Czerwik, *Function Equations and Inequalities in Several Variables*, World Scientific, River Edge, NJ, USA, 2002.
- 3. M. Eshaghi Gordji, n-Jordan homomorphisms, Bull. Aust. Math. Soc., 80 (2009), 159-164.
- 4. M. Eshaghi Gordji, On approximate *n*-ring homomorphisms and *n*-ring derivations, *Nonlinear Funct. Anal. Appl.*, (to appear).
- 5. M. Eshaghi Gordji and Z. Alizadeh, *Stability and superstability of ring homomorphisms on nonarchimedean banach algebras*, Abstract and Applied Analysis, **2011**, Article ID 123656, 2011, 10 pages.
- 6. M. Eshaghi Gordji, A. Bodaghi and I. A. Alias, *On the stability of quadratic double centralizers and quadratic multipliers: a fixed point approach*, Journal of Inequalities and Applications, **2011**, Article ID 957541, 2011, 12 pages.

- 7. M. Eshaghi Gordji, M. B. Ghaemi, S. Kaboli Gharetapeh, S. Shams and A. Ebadian, On the stability of *J**-derivations, *Journal of Geometry and Physics*, **60** (2010), 454-459.
- 8. M. Eshaghi Gordji, N. Ghobadipour and C. Park, Jordan *-homomorphisms on C*algebras, *Operators and Matrices*, 5 (2011), 541-551.
- M. Eshaghi Gordji, S, Kaboli Gharetapeh, H. Ziyaei, T. Karimi, S. Shagholi and M. Aghaei, Approximate n-Jordan homomorphisms: an alternative fixed point approach, J. Math. Anal., 2 (2011), 1-7.
- S. Hejazian, M. Mirzavaziri and M. S. Moslehian, n-Homomorphisms, Bull. Iranian Math. Soc., 31 (2005), 13-23.
- 11. D. H. Hyers, On the stability of the linear functional equation, *Proc. Natl. Acad. Sci. USA*, **27** (1941), 222-224.
- D. H. Hyers, G. Isac and Th. M. Rassias, *Stability of Functional Equations in Several Variables*, Progress in Nonlinear Differential Equations and Their Applications, Boston, MA, USA, 1998.
- D. H. Hyers and Th. M. Rassias, Approximate homomorphisms, *Aequationes Math.*, 44 (1992), 125-153.
- 14. G. Isac and Th. M. Rassias, On the Hyers-Ulam Stability of ψ -additive mapping, J. Approx. Theory, **72** (1993), 131-137.
- 15. G. Isac and Th. M. Rassias, Stability of ψ -additive mapping, J. Math. Sci., 19 (1996), 219-228.
- 16. S. Jung, *Hyers-Ulam-Rassias Stability of Functional Equations in Mathematical Analysis*, Harmonic Press, Palm Harbor, FL, USA, 2001.
- T. Miura, S.-E. Takahasi and G. Hirasawa, Hyers-Ulam-Rassias stability of Jordan homomorphisms on Banach algebras, *Journal of Inequalities and Applications*, 2005 (2005), 435-441.
- C. Park, Homomorphisms between Poisson JC*-algebras, Bull. Braz. Math. Soc., 36 (2005), 79-97.
- 19. C. Park, Hyers-Ulam-Rassias stability of homomorphisms in quasi-Banach algebras, *Bull. Sci. Math.*, **132** (2008), 87-96.
- C. Park and J. M. Rassias, Stability of the Jensen-type functional equation in C*algebras: a fixed point approach, Abstract and Applied Analysis, 2009, Article ID 360432, 17 pages, 2009.
- 21. Th. M. Rassias, On the stability of the linear mapping in Banach spaces, *Proc. Amer. Math. Soc.*, **72** (1978), 297-300.
- 22. S. M. Ulam, *Problems in Modern Mathematics*, Chapter VI. Science, ed. Wily, New York, 1940.

Choonkil Park Department of Mathematics Research Institute for Natural Sciences Hanyang University Seoul 133-791, Korea E-mail: baak@hanyang.ac.kr

Shahram Ghaffary Ghaleh Department of Mathematics Payame Noor University of Zahedan Zahedan, Iran E-mail: shahram.ghaffary@gmail.com

Khatereh Ghasemi Department of Mathematics Payame Noor University of Khash Khash, Iran E-mail: khatere.ghasemi@gmail.com